Maj 2011

W N L
L- -
~ J o L2 <7
0 i — :’I. -1
. = ) - il i
] i
'I_ T
[}
1 bt il s H — -
— - il y. . 1
ad
. qMR
System Woézek Pro;v;:;;nca Nosnos¢é Waga
[mm] [mm] Wykonanie L | Wykonanie C [kN] Lol [kg] [kg/m]
H/W|W2| E | L | B|J|MQ|ih | 1T | L1 | OilH [T1 | N |[T2| L2 H2 |[Wi | H1 | F |d| D | h | MR | t C | CO | MX | MY | MZ | LW | Prowadnica
FN 58,6 40,2 9,33 | 19,62 | 0,135 | 0,118 | 0,118 | 0,21
BGXH15 | | 24| 47 | 16 S51 38|30| Ms | 44| B |0 MAOT | 55 45|42 | @3 | 15| 13 |60 |45|75| 6 | Ms 8 1231 2372 016a| 0169 0169 023 1,28
FN 69,3 48,5 7.38 | 305 | 0,285 02210221 04
BGXH20 |30 | 63 | 216 | 45 o0 63 |40| M6 | 54 | 9 oo MBx1,0 | 71 | 156 63 425 @53| 20 [163|60 | 6 |95 | 85| Me | 10 i et il 215
FN 79,7 57,5 20,12 | 41,07 | 0,440 | 0,352 | 0,352 | 0,57
BGXH25 | FL | 36| 70 [23,5| 58 | 944 | 57 |45| M8 | 7 | 10 | 722 | M6x1,0 |10,2|156 | 9.4 |4,65 @53 |23 [192|60 | 7 | 11 | 9 | M6 | 12 [2587 | 52,79 | 0,567 | 0,568 | 0,568 | 0,72 2,88
FE 109,1 86,9 29,16 | 63,29 | 0,680 | 0,820 | 0,820 | 0,89
FN 94,8 67,8 29,73 | 54,57 | 0,707 | 0,551 | 0,551 | 1,1
BGXH30 | FL 42| 00 [ 31 | 7 198 | 72 |52|m10| 86 | 11 -7 | Mex1,0 | 10 |156| 55| 6 | @5 | 28 |228|80 | 9 | 14 | 12 | M8 | 15 [3851] 7068 0915/0822 0822134 4,45
FE 130,5 103,5 42,87 | 86,71 | 1,123 | 1,338 | 1,338 | 1,66
FN 1115 80,5 4337 | 81,12 | 1,283 | 0,973 | 0,073 | 1,5
BGXH35 | FL |48 |100| 33 | 7.5 [123,5| 82 |62 |M10| 86 | 12 | 925 | M6x1,0 | 8 | 16 | 65 |7.25| @5 | 34 | 26 | 80 | 9 | 14 | 12 | M8 | 17 [52,95|101,36 1,603 | 1,397 | 1,397 | 1,9 6,25
FE 1535 122,5 58,26 | 1253 | 1,982 | 2,287 | 2,287 | 2,54
FN 129 94 57,97 | 109,9 | 2,302 | 1,525 | 1,525 | 2,27
BGXH45 | FL |60 | 120 [37,5| 8,9 | 145 | 100 |80 |M12 | 10,6 | 15,5 | 110 | M8x1,25 | 14,4 | 16 |145| 8 |@6:8| 45 |31,1|105| 14 | 20 | 17 | M12 | 24 [68,95 129,542,738 | 2,123 | 2,123 | 2,68 9,6
FE 174 139 79,67 | 163,28 | 3,451 | 3,381 | 3,381 | 3,42
FN 155 116 69,81 133,42 | 3,306 | 2,306 | 2,306 | 3,42
BGXH55 | FL | 70 | 140 | 43,5 | 12,7 | 193 | 116 |95 |M14 | 12,6 | 18,5 | 154 | M8x1,25 | 14 | 16 |145| 10 | @7 | 53 | 38 |120| 16 | 23 | 20 | M14 | 24 | 942 |178,85 | 4,432 | 4,104 | 4,104 | 4,57 13,8
FE 210 171 127,7 | 253,62 | 6,284 | 6,462 | 6,462 | 5,08

SIEDZIBA GLOWNA
ul. Potudniowa 72

62-064 Plewiska k/ Poznania

e-kontakt@albeco.com.pl

Tel: +48 61 6535300

ODDZIAL OLSZTYN

ul. Kotobrzeska 50
10-434 Olsztyn
olsztyn@albeco.com.pl

Tel: +48 89 5332661

ODDZIAL KATOWICE

ul. Graniczna 61a
40-018 Katowice
katowice@albeco.com.pl

Tel: +48 32 2563260

www.albeco.com.pl




